3. Use the Comparison Theorem to determine which of the following integrals is convergent.
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6. Which of the following statements is true for the series Z

n=1
I

II1. Tt diverges.
(a) Only [is true.
(b) Only II is true.

Only ITI is true.

(d) Only I and II are true.

(e) All three statements I, II, and III, are false.
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9. Given the n-th partial sum of the series " a, by s, = ‘L find ay.
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2. Which of the series below is convergent?

=, 6n+3 > 6n+3
UDMewrs, P Frrersy

@(IH) only
(b) (IT) and (III) only
c

) (
(¢) Nome of the other answers is correct.
(d) All 3 are convergent.
(e)

e) All 3 are divergent.
= bnt3 an= brt3
@ =1t " ntl

Um an = b #0

(H) z_ brni3 bn+3

a -
rel] ,\,[n.-HS n ")‘_/p,-us . bn43 ) "
um an= {cm = bm —pT—

ns oo h(N4] n-ee
[ 3 el O — I ) niat
= Z GEtE )
h=1 W r=l howrmonic 4eres (aaveryu/:)

2 .
(/,/) 2 m — & dOhl/,&f?M'é.

Title : Mar 25-11:06 AM (Page 4 of 9)




8. Assume that the sequence {a,} is bounded, increasing and given by
8
aji =3 and pi1 =6— —

an

for all positive integers n. Determine if the sequence is convergent or divergent.
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3. Use the Comparison Theorem to determine which of the following integrals is convergent.
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